N & 0l & AF S & M M

20198 & =0la LBt ESB bt
AN HEZ st
Hu: DER SM2 M8 7S
SRl MO OHHE MADIE RE CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
e s A 279,454,381 297,110,693 A 17,656,312
= 228,455,447
s 1,641,000
J| 7,490,193
< 41,867,741
NEE s4ats dag 2= 279,389,401 297,045,713 A 17,656,312
= 228,455,447
s 1,641,000
J| 7,490,193
< 41,802,761
AlEhol OFAE A MAD|BE X 63,570,562 63,132,966 437,596
= 50,056,920
J| 362,000
< 13,151,642
rH=elA=2 860,000 860,000 0
= 800,000
< 60,000
308 MtXIEHSOIH 860,000 860,000 0
= 800,000
< 60,000
01 HXNHHNBHELS 860,000 860,000 0
Oxzd=clNdd=s=s XN& 860,000
= 800,000
< 60,000
MR L2 HE sIIH N 2,600,000 520,000 2,080,000
= 2,000,000
< 600,000
403 UHXSHHSA=0l& 2,600,000 520,000 2,080,000
= 2,000,000
< 600,000
01 X SHMA2E X 2,600,000 520,000 2,080,000
OF&XL&IHE sI1H X 2,600,000
= 2,000,000
< 600,000
SIIH LA A XI& 650,000 650,000 0
= 500,000
< 150,000
403 MtXISHH S A0l & 650,000 650,000 0
= 500,000
< 150,000
01 X SHHAN2E= 650,000 650,000 0
OsIJIHSHAIS 2~ XA 650,000
= 500,000
< 150,000
HERSSEsIH LN 195,000 195,000 0
= 150,000
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2N
X ZH -
L= B

el

Ry

BHSHD
EY M2 MMlY 1S
2ol OIFI MADIE TE

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2

01 = LH 4 bl 8,000 8,000 0
Ogds=sg AEXN=EHM =WHAEHI 8,000
| 8,000

=g E22 ™Y XA (ANZE4) 346,000 346,000 0
| 346,000

308 XXIEtH S0l A 346,000 346,000 0
| 346,000

01 IXNHHMBANEES 346,000 346,000 0
Ogd=sgd JFI=2H &&E 346,000
| 346,000

dsHA=3 20,400,000 20,400,000 0
= 20,400,000

308 XX EHH SOl A 20,400,000 20,400,000 0
= 20,400,000

01 AXSHBELS 20,400,000 20,400,000 0
Oesg AZI=SH AL 20,400,000
= 20,400,000

ESFZN WsHEE NA(EX) 186,000 198,400 A 12,400
= 150,000
< 36,000

308 XXM SO0 A 186,000 198,400 A 12,400
= 150,000
S 36,000

01 AXSGHBLEES 186,000 198,400 A 12,400
OSEZgH S8AY 148 A 186,000
= 150,000
= 36,000

SEZI9H A4 XA 372,000 1,240,000 A 868,000
= 300,000
< 72,000

403 MtXISHE X201 E 372,000 1,240,000 A 868,000
= 300,000
< 72,000

01 XM A=2EE 372,000 1,240,000 A 868,000
O=Ed3ZH A& XA 372,000
= 300,000
< 72,000

SEZIH mMECH2E X&A 19,500 2,132,000 22,112,500
= 15,000
< 4,500

403 XSS X201 & 19,500 2,132,000 22,112,500
= 15,000
< 4,500

01 AXSHA=2E = 19,500 2,132,000 22,112,500




SN HBESLD
Hu: DER SM2 M8 7S
Sl AZFOl OIHE MADIE RE (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Os8dgH Ardch2st XA 19,500
= 15,000
< 4,500
ANE HEE M TR 311,940 1,874,412 A 1,562,472
307 21201 A 56,700 56,700 0
02 HAFAANFEX 11,700 56,700 A 45,000
oautgad d2us XA 11,700
04 DIZHHALALSE E X 45,000 0 45,000
Oudgds |4 45,000
308 XXIEHHSOIA 30,240 17,712 12,528
01 IXNHHBNEES 30,240 17,712 12,528
OudAds ME2g XN 30,240
403 XSS X201 & 225,000 1,800,000 A 1,575,000
01 XXM A2E = 225,000 1,800,000 A 1,575,000
O=0l Et&= MaEHl X 225,000
s JIEHAIE &= 1,043,000 704,000 339,000
403 UHXSHHSA=0l& 1,043,000 704,000 339,000
01 HXSHMA=E X 1,043,000 704,000 339,000
OAlEHat B &ALY 1,043,000
= Et& = THHHRI& 27,517,764 25,962, 196 1,555,568
= 25,597,920
< 1,919,844
308 XXM SO0 A 27,517,764 25,962, 196 1,555,568
= 25,597,920
< 1,919,844
01 IXNHHBNEES 27,517,764 25,962, 196 1,555,568
O= Et&2 Mol X & 27,517,764
= 25,597,920
< 1,919,844
SEa May 22 X 999,000 1,260,000 A 261,000
308 XtXIEHHSOIA 420,000 885,000 A 465,000
01 AXHHIYEES 420,000 885,000 A 465,000
gy Mag 228 N3 420,000
403 Mt SHHSA=0l& 579,000 375,000 204,000
01 HXSHMA=E X 579,000 375,000 204,000
Osgs Matd 22 XA (AEEH]) 579,000
SClUTHEE M AKX 205,500 180,000 25,500
308 XXM SO0 A 69,000 60,000 9,000
01 IXNHHBNEES 69,000 60,000 9,000
ORI LHE HAXR 69,000




2A: EHS LD
Hu: DER SM2 M8 7S
Chel: Alzol OHEE MADIB 2E (sl &2)
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
403 XX SHHS K20 & 136,500 120,000 16,500
01 AIXISHHMA=Z2E X 136,500 120,000 16,500
Le|lLEotER SHAIY 94,500
O=RelY SEZAII B2 42,000
SMSMAZBAAE RSB 10,000 25,000 A 15,000
201 et d| 10,000 25,000 A 15,000
02 222%H4| 10,000 25,000 A 15,000
OZIAHE AAEH SIS 10,000
SIS M dl (LMO M) et el X 18,900 0 18,900
308 XAHXIEHSOIA 18,900 0 18,900
01 AIXSHMEAMNEX= 18,900 0 18,900
OSHEXHSEMESH (LMO) & 22| X 18,900
SIS 4 24 600,000 0 600,000
308 XNHXIGH SO0l & 600,000 0 600,000
01 AIKISHHENMNEXZ 600,000 0 600,000
OsHIIAC 24 - 29 600,000
THOHCHZ HA X2 Ol AKX 650,000 0 650,000
307 QI2t0| ™ 650,000 0 650,000
08 OIXIE A 2 650,000 0 650,000
OMaitH= BIXNZ2 Ol AKX 650,000
NEE BHEMN AHI=EA DBt 2= 162,023,600 173,615,250 AN 11,591,650
= 149,550,000
J| 648,000
= 11,825,600
MAEBEDHXNEINES 148,000,000 148,000,000 0
= 148,000,000
308 XX SHHSOIH 148,000,000 148,000,000 0
= 148,000,000
01 AIXSHMEMNEXZ 148,000,000 148,000,000 0
OMASs S EXANEIEAYE N 148,000,000
= 148,000,000
MRNEZ2 HHAH KR (Z) 58,000 58,000 0
J| 58,000
201 LBt 40,000 40,000 0
J| 40,000
01 AP 22| H| 40,000 40,000 0
OMASEEENMAZAIY 22 10,000
J| 10,000
OMASSEXRNZASAEZ N Z 30,000
J| 30,000




2N
X ZH -
L= B

el

B sot
LIE sets daigr 15
LB SHEMN AHIEX Dl 25

SA - BB B () - MM - BES Ol &t o San HmEET

202 Od4dl 18,000 18,000 0
J| 18,000

01 =S LHAYI 18,000 18,000 0
OBASSEEMANE AR FEOH 18,000
J| 18,000

AXNEZ HHGH XA (A2F4AH 590,000 590,000 0
J| 590,000

308 XXM SO A 590,000 590,000 0
J| 590,000

01 IXNSHHBMNEES 590,000 590,000 0
MAS S BEHASAY ELZTH X 70,000
J| 70,000
O#AsE 5 BEMAS MY dEHH N 520,000
J| 520,000

F2L222 Ul (KIXAM) K& (HE) 50,000 50,000 0
= 50,000

201 L2l 32,000 32,000 0
= 32,000

01 At 2t 2l 32,000 32,000 0
o=zl Let2dH] 24,800
= 24,800
oz el S 7,200
= 7,200

202 O4dl 18,000 18,000 0
= 18,000

01 =2 LHA YI 18,000 18,000 0
o=zl gRFANH 18,000
= 18,000

F2d22 Ul (KIXM) XS (ANZ2E4) 36,000 36,000 0
= 36,000

308 XXM SOIA 36,000 36,000 0
= 36,000

01 IXNHHBNEES 36,000 36,000 0
oLz ZaEX 36,000
= 36,000

H AXZMEAELE X 1,636,600 4,577,500 A 2,940,900
= 1,414,000
< 222,600

403 X SH S X =0l & 1,636,600 4,577,500 A2,940,900
= 1,414,000
< 222,600

01 X HHMA=E L 1,636,600 4,577,500 A 2,940,900
ORPC HE . ME AEXA 1,636,600
= 1,414,000




2N
X ZH -
L= B

el

B sot
LIE sets daigr 15
LB SHEMN AHIEX Dl 25

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| = 222,600
NEEA MAHY S5 & 1,368,000 1,890, 750 NB22,750
308 AXIEHMSOIA 480,000 240,000 240,000
01 AIXSHMENEXZ 480,000 240,000 240,000
OsgH 2485 E O0HHE X 300,000
Osgd SAXNSAH N3 60,000
Os2F SHEAIE &l 120,000
403 XX SHHS K20 & 888,000 1,520,750 A 632,750
01 XIS A=Z2E X 888,000 1,520,750 A 632,750
Osgs 88 2HEH X 36,000
OE8 2 % RPC AIE&&Hl XI& 702,000
O4n2 T3ZE 22aa X 150,000
Sga =9 d mxEs A 140,000 140,000 0
201 2Et2Hy| 140,000 140,000 0
01 AP 2t 2] d| 140,000 140,000 0
OXHEZEHIZSCE L =SSN SE (0 AE210%) 140,000
sostdT2 2 AN X 10,080,000 15,660,000 A5,580,000
308 MXISHMSOIA 10,080,000 15,660,000 A5,580,000
01 XHHIMNEEXTZ 10,080,000 15,660,000 A5,580,000
O=sgetd Ad AY 10,080,000
NEE AMAEHAHE SHALS 65,000 2,613,000 A 2,548,000
2 50,000
= 15,000
403 XX SHHS K201 & 65,000 2,613,000 AN 2,548,000
= 50,000
= 15,000
01 XIS AES2E X 65,000 2,613,000 A 2,548,000
ODNEAMN B 4 65,000
= 50,000
& 15,000
HEtA=AH)|e XM 32,831,755 36,183,978 N 3,352,223
= 24,912,639
g 900,000
J| 80,000
& 6,939,116
At K 243 456,500 374,500 82,000
201 LBt | 45,000 36,000 9,000
01 AP 22| d| 45,000 36,000 9,000
OREBHSAES ZIBHE S S (M AHE210%) 45,000
307 2iz2to| A 31,500 35,000 A 3,500




AN HEZ st
My DEI SM42 MW 2E
el AEFsle X4 (el @2)
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
04 DI2HHALALSE E X 31,500 35,000 A 3,500
OXSIsE AHIEU X (0 &= 2H10%) 31,500
308 XtXIEHH SOl A 330,000 290,000 40,000
01 AXHHBILEES 330,000 290,000 40,000
Ot nASY=Y Ad XA 240,000
Oz edsitE 22 OHAHE XA 90,000
403 MtXISHHE X201 & 50,000 13,500 36,500
01 AXSHHMA=2E X 50,000 13,500 36,500
Ozlatz s daHil 2432 fIet daFH|
A& 50,000
JEd=sY =gt 2= 938,452 709,200 229,252
308 XAHXIEHH SOl A 758,452 498,000 260,452
01 HIXNHHNBMNEES 758,452 498,000 260,452
OxetdsitE el &l 421,775
Oz S sHAMAA 336,677
403 XA SA=0l& 180,000 211,200 A 31,200
01 HXESHMA=E X 180,000 211,200 A 31,200
ORJIsddzmSIA 180,000
sy oy =4 418,800 97,650 321,150
307 glz2+ol & 24,300 25,650 A 1,350
02 QIZtE M AHE X 24,300 25,650 A 1,350
O eZd=gd MM S (0eE210%) 24,300
308 XX EHH SOl A 106,500 72,000 34,500
01 AXHHIBLEES 106,500 72,000 34,500
Oz EI=sEEN B 15,000
ORSBZ=AXZN M 60,000
OHSBAHUSRHO NS X2 31,500
403 Mt SHHSA=0l& 288,000 0 288,000
01 HXSHMA=LE X 288,000 0 288,000
OZSZHESRANELEXNE 288,000
JEd=sgY NAAMY 1,350,000 1,350,000 0
s 900,000
< 450,000
403 X SHH S0l & 1,350,000 1,350,000 0
s 900,000
< 450,000
01 X SHMA=2EE 1,350,000 1,350,000 0
OzEdsd N7 ALY 1,350,000
s 900,000
< 450,000




2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET

dFsYA= 2,494,905 2,551,995 A57,090
= 2,494,905

308 AHAIEHHSOIA 2,494,905 2,551,995 A57,090
= 2,494,905

01 AXSHBAELS 2,494,905 2,551,995 A 57,090
OzgZd=g ZEXNS MY 2,494,905
= 2,494,905

ZRAEMA=Z 759,091 1,473,191 A714,100
= 583,916
< 175,175

308 XXM SO0 A 759,091 1,473,191 AT714,100
= 583,916
< 175,175

01 IXNHHBNEES 759,091 1,473,191 A714,100
OZ22dAZI =AML 759,091
= 583,916
< 175,175

ELHEH X 9,374,000 8,031,774 1,342,226
= 7,438,000
< 1,936,000

403 XIS E X201 & 9,374,000 8,031,774 1,342,226
= 7,438,000
< 1,936,000

01 AXSHMA2E = 9,374,000 8,031,774 1,342,226
OE2LIHEH XA 9,374,000
= 7,438,000
= 1,936,000

sII&2dlg XN& 16,579,570 17,223,293 AB43,723
= 14,150,000
< 2,429,570

403 XHXI SIS Xt =201 ® 16,579,570 17,223,293 A 643,723
= 14,150,000
< 2,429,570

01 HXSHMA2E X 16,579,570 17,223,293 AB43,723
II1&8dlg XA 16,579,570
= 14,150,000
< 2,429,570

FI=sSUM XA 356,437 401,529 A 45,092
= 245,818
= 110,619

308 XXM SO A 356,437 401,529 A 45,092
= 245,818
< 110,619

01 IXNHHBANEES 356,437 401,529 A 45,092
I s X3 356,437




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 245,818
& 110,619
XIS HEH MAA LSS HSIHAF 104,000 0 104,000
J| 80,000
= 24,000
403 XX SHHS K20 & 104,000 0 104,000
J| 80,000
= 24,000
01 XIS A2E X 104,000 0 104,000
OREBHEHMAALSUHSAIS 104,000
J| 80,000
=} 24,000
QA0 EZ MAD|IBE A|lE &= 18,229,837 21,889,919 A 3,660,082
= 3,935,888
J| 5,891,885
& 8,402,064
sHE20F IR EZB2AIAE X& 3,547,979 3,028,720 519,259
= 2,446,832
& 1,101,147
403 XX SHHS K20 & 3,547,979 3,028,720 519,259
= 2,446,832
& 1,101,147
01 AIXISHA=Z2E X 3,547,979 3,028,720 519,259
OAER0 UK E2Z AIEAS 3,547,979
= 2,446,832
& 1,101,147
WEMAAIE S XK 615,727 893,750 N 278,023
J| 447,801
& 167,926
403 XX SRS K20 & 615,727 893,750 N 278,023
J| 447,801
o=} 167,926
01 MXSHHNEE X 615,727 893,750 N 278,023
Ol NEE ANEsUs AHY 615,727
J| 447,801
& 167,926
s s U=J0 s X&A 1,275,000 600,000 675,000
403 XX SHHS K201 A 1,275,000 600,000 675,000
01 XIS A2E X 1,275,000 600,000 675,000
O=2 A=sAM XNEAY 300,000
O3 = MAESZI|H KNIAS 600,000
Ol AEM2MEIDAEXAY 375,000
NEESE Mo L ALK 300,000 300,000 0
403 XX SHHS K20 & 300,000 300,000 0




LIE sets daigr 15
POHSE MaDiet Ald &5

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 HXSHMA2E X 300,000 300,000 0
O3tsll Maojgh YA AALY 300,000
FTADIZ HABURRSHH AEXA 763,100 0 763,100
J| 587,000
< 176,100
403 MtXISHHE X201 & 763,100 0 763,100
J| 587,000
< 176,100
01 X SHHAN2E = 763,100 0 763,100
OFTAHE M S SHEH AIZE2 763,100
J| 587,000
S 176,100
S+BTREABSIIERS 585,000 1,170,000 585,000
J| 450,000
< 135,000
403 A X EHHS 20l A 585,000 1,170,000 585,000
J| 450,000
= 135,000
01 X ESHMA=E L 585,000 1,170,000 A 585,000
O AL DR = 585,000
J| 450,000
= 135,000
AMERWSE U XI& 3,695,345 3,574,250 121,095
J| 2,548,514
= 1,146,831
403 XSS A=0l& 3,695,345 3,574,250 121,095
J| 2,548,514
< 1,146,831
01 X SHMA=2E X 3,695,345 3,574,250 121,095
OAZ30 iz SEME AL 3,574,250
J| 2,465,000
< 1,109,250
Ot Tl =8I FEHAY 121,095
J| 83,514
< 37,581
2020 ICT 828 K& 275,893 1,877,447 A 1,601,554
J| 190,270
< 85,623
403 Mt SHHSA=0l& 275,893 1,877,447 A 1,601,554
J| 190,270
< 85,623
01 HXSHMA2E X 275,893 1,877,447 A 1,601,554
O=sAE ICT 858 S4tAY 275,893
J| 190,270
< 85,623




LIE sets daigr 15
POHSE MaDiet Ald &5

SA - BB B () - MM - BES Ol &t o San HmEET

SH20F ATHMUUHXIAIE XA 48,173 103, 264 A 55,091
= 37,056
< 11,117

403 UHXISHHSA=0l& 48,173 103, 264 A 55,091
= 37,056
< 11,117

01 HXESHMA=LE L 48,173 103, 264 A 55,091
OSHES &I 222 48,173
= 37,086
< 11,117

ANEHAE DSE MAAE &= 2,712,780 2,939,750 A 226,970

403 MtXISHH S =01 & 2,712,780 2,864,750 A 151,970

01 HIXSHMA2EE 2,712,780 2,864,750 A 151,970
OAEZ30U S3HE At 216,000
Oti= RAOHAHE M3 A 51,300
OAE 20l 2 HTHEH Al & AL 208,980
OAnle 3=t XA 264,000
OdN SEx=2 2ot 25 375,000
O &s Aol B2 Hel XA 300,000
OJHZS AL XA 288,000
OB AT SsX A 195,000
OJUER XNAESSE AY 814,500

DFHIOHE MHBHAIE X & 1,831,350 1,699,400 131,950
J| 1,263,000
< 568,350

403 MtXSHHS =0l & 1,831,350 1,699,400 131,950
J| 1,263,000
< 568,350

01 XM A=2E X 1,831,350 1,699,400 131,950
O HIJtE MEAIE K& 1,831,350
J| 1,263,000
< 568,350

HessSHHARS(MXM2AIE ) (KX SH) 479,700 479,700 0
J| 369,000
< 110,700

403 XIS S X201 & 479,700 479,700 0
J| 369,000
< 110,700

01 XXM A2E = 479,700 479,700 0
ORlisttEs N2RESHHA 2= 479,700
J| 369,000
< 110,700

N2ReHAS(N2+SXHE) (RXIEH) 47,190 47,190 0
J| 36,300




AN dEFsetn

Hu: DER SM2 M8 7S
S 2USE MAIIP AL 2F (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 10,890
403 MtXISHHSA=0l& 47,190 47,190 0
J| 36,300
< 10,890
01 XM A=2E X 47,190 47,190 0
Ollilstts N2+EXE KB AY 47,190
J| 36,300
< 10,890
EXESSZIMSS XA (KXIEA) 1,240,000 1,054,000 186,000
= 1,000,000
< 240,000
403 XIS E X201 & 1,240,000 1,054,000 186,000
= 1,000,000
< 240,000
01 X SHHA2E = 1,240,000 1,054,000 186,000
OEXNE SSZIM s8AE 1,240,000
= 1,000,000
= 240,000
HASMAGKHI (I INEEXH) 225,000 72,448 152,552
308 MXIEHSOIH 225,000 72,448 152,552
01 HXNHHBHELS 225,000 72,448 152,552
OMAFHAHET A 225,000
TSSSWA WA ALY 587,600 0 587,600
= 452,000
= 135,600
308 XXM SO0 A 587,600 0 587,600
= 452,000
S 135,600
01 IXNHHBHNEES 587,600 0 587,600
OxzSSsus BLAAXAAS 587,600
= 452,000
< 135,600
elarstey DIt 224 OtAE F& 2,733,647 2,223,600 510,047
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